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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
¢ DPlease write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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A [T

(i) I8 Y9A-9F T 9 A Gy § - &, @ I T |

(it) 9T F T oE & fou a8

(iii) qOemE F VT 9T @ T H G FE H G §A FA B |
(iv) &9 397 & T4 97 & 3R UF & &7 W @y |

General Instructions :

3.

67/1

(2) This question paper contains three parts A, B and C.
(ii)  Part A is compulsory for all candidates.

(iti) Candidates can attempt only one part of the remaining parts
B and C.

(iv)  All parts of the questions should be attempted at one place.

qT &
(FAATHSHT WS, WEERt BHl agr swEi-E & o erEiesa)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

w U 6T F AW FARC W TG e e wn & e 9§ w9 qui
A, A I T T @Al dOR Hd 9NY U A9 % ®9 § guis ot @ |

Name an item which is never shown on the ‘Payments’ side of
‘Receipts and Payments Account’, but is shown as an Expense while
preparing ‘Income and Expenditure Account’.

T Wl Yo ¥ U W oS F e & qEee € o a8 2010 - 2011 &
N FE S Wk WH W EE g | T W e @ ¥ e s 2

A partnership deed provides for the payment of interest on capital
but there was a loss instead of profits during the year 2010 - 2011.
At what rate will the interest on capital be allowed ?

T ST 91 S ST H HE UH RN aany |

Give any one distinction between sacrificing ratio and gaining ratio.
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fadt v § U 9RRR & WU & 5O TE 3BYF @ 3@ FHiNT | 1

State any one purpose for admitting a new partner in a firm.

3w g & oo e g 7 1

What is meant by calls in advance ?

frafafaa go=m 9 31.3.2011 & T @9 & fou a9 @ =@ @@ § A &
fow w= &t @@ A & e ST AR Fa T 1000 & IR TEF T 300
aiffs ==<1 ol & |

Ty 2010 - 2011 § wr| =1 : T 3,00,000.

31.3.2011 & 9 yra == : ¥ 36,800.

1.4.2010 & 37&" T : T 32,000.

1.4.2010 & 39 W= ==<7 : T 25,000 3

From the following information, calculate the amount of subscriptions due
to be shown in the ‘Income and Expenditure Account’ for the year ended
31.3.2011 if there are 1000 members and each paying ¥ 300 p.a.as
subscription.

Subscriptions received during the year 2010 — 2011 : ¥ 3,00,000.
Subscriptions received in advance as on 31.3.2011 : T 36,800.
Subscriptions outstanding as on 1.4.2010 : T 32,000.

Subscriptions received in advance as on 1.4.2010 : T 25,000.

g fa. 7 da=sm @ @ T 3,00,000 & W & % o1 T 1,00,000 F;
T FosH . & o5 § <7 ws ufow = % gW e o | I & e
¥ 10 5T iy & oar i & 25% & 3ifyemy w fifyg =@ f&ar |

g fa, = gwel 9 savas s sfafear i | 3

Sundram Ltd. purchased Furniture for ¥ 3,00,000 from Ravindram
Ltd. ¥ 1,00,000 were paid by drawing a Promissory Note in favour of
Ravindram Ltd. The balance was paid by issue of Equity Shares of
T 10 each at a Premium of 25%.

Pass necessary Journal entries in the books of Sundram Ltd.

3 P.T:0.
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Fa oAt &1, 3 2 100 ¥F F 3000, 12% B9 & ffge & fou emees s
ffT | & FOTEl F T 50 W TR & Siftem W i & oS o9 1 oqet afe
F PAE HEEd WA 91 |

T 4000 TG & fAU STEET W T | 1000 FOE F AU @ @ T
fear T @er emEeT UMY w wrer fear T | W9 ITEEE W RUGE & AEET aW
fear ar |

IR eeAl & fau 49 o fa. @ g § EvEs JsErTer Safgdr e |
Nav Lakshmi Ltd. invited applications for issuing 3000, 12%

Debentures of ¥ 100 each at a premium of T 50 per Debenture. The
full amount was payable on application.

Applications were received for 4000 debentures. Applications for 1000
debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applicants.

Pass necessary Journal entries for the above transactions in the
books of Nav Lakshmi Ltd.

T A AT Wh BH A WIEER 4 S 302 % I H @y died ¥ 1 1.4.2010
F 3% R §§ = TR 4 ;@ € 1,00,000 T deE 2 2,00,000. 3RR
TSt W 12% wfq af & @ § a9 JEO W 15% 99 ¥ f @ q ;W am
F fofy fEm 1 31.3.2011 & 99w 3¢ 9 & AU SR o wEENE 8 @
HH F @M T 30,000 A1 | g9 & 0T e 99l 9o & ST FAIE T 3,000
am % 5,000 4 | g S F@ WP @id ge wH @ arv-a e @
daR FfeT | W F wE g & e F off O W = femr S o

Lalan and Balan were partners in a firm sharing profits in the ratio
of 3 : 2. Their fixed capitals on 1.4.2010 were : Lalan ¥ 1,00,000 and
Balan T 2,00,000. They agreed to allow interest on capital @ 12% per

annum and to charge on drawings @ 15% per annum. The firm
earned a profit, before all above adjustments, of ¥ 30,000 for the year
ended 31.3.2011. The drawings of Lalan and Balan during the year
were ¥ 3,000 and ¥ 5,000 respectively. Showing your calculations,
clearly prepare Profit and Loss Appropriation A/c of Lalan and Balan.
The interest on capital will be allowed even if the firm incurs a loss.



10. &, @, 7 97 ¥ WEER & ST AW # FAE 3:3:2: 2 F ouw # fwfad F
€| 0 STIHY e FA 3 AM FH, W UG U A H wEg H 3:2:1F Aguw
§ faufaa =@ o fofz o1 € 1 wf @ wnfa &1 g % 6,00,000 fFar T
o & qEe § el g ¥ @ 2 4,50,000 F g€ 2 | T F THEY W F H
I TEd 99 T 12,00,000 F AN g | BT & w@iw qdr Al H e &
ferq smaveas UsAmEn sfafeal Fifee | 3 TS S T w9 9 g | 4
A,B,Cand D are partners sharing profits in the ratio of 3 : 3 ; 2 : 2
respectively. D retires and A, B and C decide to share the future profits
in the ratio of 3 : 2 : 1. Goodwill of the firm is valued at ¥ 6,00,000.
Goodwill already appears in the books at T 4,50,000. The profits for the
first year after D’s retirement amount to T 12,00,000. Give the necessary
Journal entries to record Goodwill and to distribute the profits. Show your
calculations clearly.

11. wafeT fa. 3 3799 T 100 5&3F & 1250, 12% ForE & wgd & iy faar | s
850 FUGH F HY G dWR 8§ T 96 uT T9T W fRA | W FOE & oW
o W R T | FEE A RO WEE SN ST S g § e @
fapar gam B |

IWF ATeAl F A T S Y § Savgs UsHmAE gerEE S | 4
Sarvottam Ltd. decided to redeem its 1250, 12% Debentures of ¥ 100 each.

It purchased 850 Debentures from the open market at T 96 per Debenture.

The remaining Debentures were redeemed out of profit. The company has
already made a provision for Debenture Redemption Reserve in its books.

Pass necessary Journal entries in the books of the company for the above
transactions.

12. wgA fa. & g § fpafafed dac & fou smevas dsmen sfafest s

(i) % 96,000, 12% FOTH F WEA K T 100 ¥ F wHar vl ¥ ufEfi
w0 R T | wEar i @ i 4% F 52 W fEEr m

(i) T 100 2% F 4,800, 12% T & T 100 ¥4F & A¢ 18% FOHEI |
TRafad fFan T | AU RO @ 25% % Sifgaw W) fifaa e mar 6

Pass necessary Journal entries for the following transactions in the books

of Fortune Ltd :

(1) Redeemed T 96,000, 12% Debentures by conversion into Equity
Shares of T 100 each. The Equity Shares were issued at a
discount of 4%. .

(ii) Converted 4,800, 12% Debentures of T 100 each into New 13%
Debentures of ¥ 100 each. The New Debentures were issued at a
premium of 25%.

67/1 5 P.T.O.



13.

o a9 TR U BH & WEeR 9 G941 2: 3 & 37U H @9 sled 4 | 31.3.2011
& 3T fEfg faar e y=r o -
31.3.2011 & dw@ aan guy &1 feafa faawor

qf3r a3
gard 4 gegfear 4
T 49 wd wEA 3,00,000
99 ;¥ 2,00,000 i 1,00,000
TR ;2 .3,00,000 | 5,00,000 | TR 1,50,000
SEEU 1,05,000 | 9% 1,55,000
FHar afagfd fafy 1,00,000
7,05,000 7,05,000

1.4.2011 & w4 & fqged 2w q@ @Rl T ARREl & R e
g3

(i) g A 9 9 W& F TR PEE & T 3,50,000 F @ form;
(i) =& =1 fasha T 90,000 H fear 74

(i) S T o9 T@ F Pl F9eE 2q SRR @ wieR W e |
w % g & o smevas s wfatEE e |

Sanjay and Sameer were partners in a firm sharing profits in the
ratio of 2 : 3. On 31.3.2011 their Balance Sheet was as follows :

Balance Sheet of Sanjay and Sameer as on 31.3.2011

67/1

Amount Amount
Liabilities 4 Assets 4
Capitals : - Land and Building| 3,00,000
Sanjay : T 2,00,000 Stock 1,00,000
Sameer : ¥ 3,00,000 5,00,000 | Debtors 1,50,000
Creditors 1,05,000 | Bank 1,55,000
Workmen Compensation Fund | 1,00,000 '
7,05,000 7,05,000
6



The firm was dissolved on 1.4.2011 and the Assets and Liabilities

were settled as follows :

(i) Sanjay agreed to take over Land and Building at ¥ 3,50,000 by

paying cash;

(i)  Stock was sold for T 90,000;

(iii) Creditors accepted Debtors in full settlement of their claim.

Pass necessary Journal entries for dissolution of the firm.

14. 31.3.2011 % WO gL a9 & Q¢ Fomar WeH Fo@ & HAAGEd O @

TEH T FE 99 FG G qaR S
31.3.2011 ! TUTW FC @Y & {60 FicTeRdr wieH FoE @1
Wit Ua I @A
eI STHT
afer LU

ifte 3 LRGIE! z

I 30 A 3,200 | 97 1,800

T 92,500 | T (30.9.2010 # 12 78 | 2,300
& fau feam)

T Y _ ferstet 1,000

(wfmfaa T 1,000 =R 95ma &) | 3,000

Gl 750 | W 2,200

g w1 R 1,750 | FfeT o <wed 400

ad 2009 — 2010 = U 2 2,000 | f&fae == 900
T 7,500
9% &l S (1.4.2010 &) | 15,200
I I A T 1,900

33,200 33,200
67/1 7 P.T.O.



From the following Receipts and Payments Account of Kolkata Sports Club
for the year ended 31.3.2011, prepare Income and Expenditure Account :

Receipts and Payments Account of Kolkata Sports Club
for the year ended 31.3.2011

Dr. Cr.
Amount Amount
Receipts 3 Payments ¥
To Balance b/d 3,200 | By Salary 1,800
To Subscriptions 22,500 | By Rent (paid on
30.9.2010 for 12 months) 2,300
To Entrance Fees (including By Electricity 1,000
¥ 1,000 as capital income) 3,000
To Donations 750 | By Taxes 2,200
To Rent of hall 1,750 | By Printing and Stationery 400
To Accrued interest for the By Sundry Expenses 900
year 2009 — 2010 2,000 By Books 7,500
By 9% Fixed Deposit
(on 1.4.2010) 15,200
By Balance c¢/d 1,900
33,200 33,200

15. 32 o4 Ued UE B4 % WPER 4 797 5: 3 % ud ¥ @ afed 9 | 31.3.2011
H IR AN F V53 9 F AU HeU B UF A9 WERR AT | A9y o fawree
UM 5:3:29 | HgU & TV & WHY B9 & feafa faewor e seR § o

67/1

M afer

g z qrferar z
qSh qf wd Haa 1,50,000
e T 1,50,000 BRG] 40,000
weT ;90,000 | 240,000 | T 5,000
gad ®=O & g sEuE 1,200 | ©IF 27,000
AR 20,000 | TR . 47,000
N g B 32,000 | I%% 4,200
- @Il 20,000
2,93,200 2,93,200
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TR0 & AV & wug gg favfg femn wn fe

U S Ot F A 2 40,000 W wfa NfEW & e 9 % Ay
% 16,000 wQ, SR 3Me 97 e a9 Wed o faser o,

1)

(i1)
(i1i)
(iv)
(v)

Waw@@uﬂzﬂﬁ%mzé%wmmﬁmé;

fafas el # % 2,500 # & 7 & fowe gram T@ & g

faerelt % 37ew o & faTw 2 3,000 &1 Y@M FE &

T & fows T 325 % UH WY T F TR 9 @ Fee 2 | 39 fou

TEYH &8

IR GHESHI % UvEN, A 94 Hed W OGS F NS0 H OGS & MER W
T w1 8 | fufd oER sRd a9 Hed W s O SO eer S

UGICC S e

TTHeIEA @A, WEeR % St @ qw 98w s feafg faewr dar #if

HGEl

T, U3 T4 UECT UH BH %k GEER ¥ FAr 3 : 2 : 5 F AAUG H WY sed o |

31.12.2010 F &1, ¥3 a9 wgqm H feafa fgewor fremer a1

qfer i
et Z Tttt z
qsf Ll 3,00,000
@ % 3,00,000 ufT g1 &= 5,00,000
¥ . T2,00,000 EMIETY 1,70,000
mEd ¢ ¥5,00,000 | 10,00,000 | =i 30,000
g §99 1,00,000 | &T&R 1,20,000
I3 A =W 50,000 | 1%s 45,000
AR 75,000 | ETH-21 e 60,000
12,25,000 12,25,000
9

R.T.0.



14 919 2011 % ¥ & 7Y & . |
R G0 & IER URIER F I W IEE IuUiPEn fEfarad & fal g

BT
GO | L
(ii)

(i)
frerEm @

(%)

(|)
TF T 8

(M
(v)

froet af & o9 F IR W g & fay 9% arg § 9
gfdl & qhieaiEA 941 eAanaEl & g (e § anygi woefw s

offy G971 9a= & T 1,20,000 ¥ FEET S &
Bfad & T¥Ed #1599 % 1,35,000 76 a4 ©id & T 25,000

¥ o fear mn, fowd g @ § &0 oA |

T T, TRl & ISl @, 93 & IaUbEn & @ ad @A e He
wmwmmmwmmﬁmwmﬁr@ﬁ@

Haud F 9 WEd @ favey fear @

qe] @Al # WERG wX eI s

Atal and Madan were partners in a firm sharing profits in the ratio

of 5 :

@ﬁmmﬂﬁ%mmwzé%mwmél
W F IWOHED F 3T TS TW & AR 366 s & #U @

| e o onfyem @ F F GRRR ¥

3. On 31.3.2011 they admitted Mehra as a new partner for

1/5™ share in the profits. The new profit sharing ratio was 5 : 3 : 2.
On Mehra’s admission the Balance Sheet of the firm was as follows :

Amount Amount

Liabilities T Assets 3z
Capitals : Land and Building 1,50,000
Atal : % 1,50,000 Machinery 40,000
Madan : T 90,000 2,40,000 | Patents 5,000
Provision for bad debts 1,200 | Stock 27,000
Creditors 20,000 | Debtors 47,000
Workmen Compensation Fund 32,000 | Cash ‘ 4,200
Profit and Loss Account | 20,000
2,93,200 2,93,200

67/1 10




On Mehra’s admission it was agreed that

(i) Mehra will bring ¥ 40,000 as his capital and ¥ 16,000 for his
share of goodwill premium, half of which was withdrawn by Atal

and Madan;

(ii) A provision of 2%% for bad and doubtful debts was to be created;

(iii) Included in the sundry creditors was an item of ¥ 2,500 which

was not to be paid;

(iv) A provision was to be made for an outstanding bill for electricity

T 3,000;

(v) A claim of ¥ 325 for damages against the firm was likely to be
admitted. Provision for the same was to be made.

After the above adjustments, the capitals of Atal and Madan were to
be adjusted on the basis of Mehra's capital. Actual cash was to be
brought in or to be paid off to Atal and Madan as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and

the Balance Sheet of the new firm.

OR

Khanna, Seth and Mehta were partners in a firm sharing profits in
the ratio of 3 : 2 : 5. On 31.12.2010 the Balance Sheet of Khanna,
Seth and Mehta was as follows :

Amount Amount

Liabilities 4 Assets 4
Capitals : Goodwill 3,00,000
Khanna : ¥ 3,00,000 Land and Building 5,00,000
Seth : T 2,00,000 Machinery 1,70,000
Mehta : ¥ 5,00,000 | 10,00,000 | Stock 30,000
General Reserve 1,00,000 | Debtors 1,20,000
Loan from Seth 50,000 | Cash 45,000
Creditors 75,000 | Profit and Loss Account 60,000
12,25,000 12,25,000

87/1 11 P.T.O.



16.

671

On 14* March 2011, Seth died.

The partnership deed provided that on the death of a partner the
executor of the deceased partner is entitled to :

(i) Balance in Capital Account;

(ii)  Share in profits upto the date of death on the basis of last year’s
profit;

(ii1) His share in profit/loss on revaluation of assets and re-assessment of
liabilities which were as follows :
(a) Land and Building was to be appreciated by ¥ 1,20,000;

(b)  Machinery was to be depreciated to T 1,35,000 and Stock to
< 25,000;

(¢) A provision of 2%% for bad and doubtful debts was to

created on debtors;

(iv) The net amount payable to Seth’s executors was transferred to
his loan account which was to be paid later.

Prepare Revaluation Account, Partners Capital Accounts, Seth’s
Executors A/c and the Balance Sheet of Khanna and Mehta who
decided to continue the business keeping their capital balances in
their new profit sharing ratio. Any surplus or deficit to be transferred
to current accounts of the partners.

IRF fad. 7 T 10 ¥@% & 70,000 T W F T 35 9 3w F diftw W
frif &0 & fag smeeT smf=w fw | ofe & e 79 T#R @ e a9

e | T 15 (X 12 itz =feq)

HET W T 10 (R 8 SifFaw wiEd)

99 g Af<H TEAT W — 99
65,000 39 & foU 37 W gW T4 W SESH H AV F @A W fam
T | UF SIENE, TH, € 2000 39 # wEed fEar mar 41, 3 aEeA ufyr &
YA J6 6 | efeeT & qo UveEn IWe i &l Sed & fawr T | sWe
VeI WO U i<W arEer m wE | g, s 9 3000 oW ¥, F vuw ug
Hi-m A=A FOPE AR R | 3HE i @ o Seq o forn mn | S fRU
T S A § 4000 I & T 50w sfw & @ F Of wew g i & fa
T | g fifae fee o sien ® wm % ol sy wfiufaa 4
IR ATl & U smF fa. # g § enavas JsHmr wfafEar S |

Haar

12

8



iy for. 3 T 10 Y& & 75,000 FHAT I F 10% & 92 | i = F
faw smagT smi=a e | ofer &1 pm f9 JER § & a1

e W % 2 9 i

e W T 2 9 3w

Yoy e 3w gEa W — 9
1,50,000 3ief & foaw smdes W= g€ | 25,000 Wi & faw W@ # w W
fegr 7 941 3 FEEH FH IMEST U AW W G M | VY EH &
aUIfae SR X L & e fFA T | 39 sEeE & WY Ww sifafes e
F HENE SEeA WS ufer H X fawn mm o g A 1250 s % e smee
ffar o1 QU IEH @A TRT T FAH TH I qrEAr U B OPAE G A |
%@ 7 A 1000 3 W ¥4 w§ A< A=A FOPTaE 9 R | 39 e s
I S wT foar T | wed fRu Mg SR F ¥ oA § 1000 I & ¥ 17 ¥
#u A R Wl yem g Frifea X fen man | g frifea few moosien # g
3 udt ofy wiwfem 2 |

IR oAl & AT AN fo. &1 TRl °H Evas UsemeEr Naredl s |

R.K. Ltd. invited applications for issuing 70,000 Equity Shares of ¥ 10
each at a premium of T 35 per share. The amount was payable as

follows :
On Application T 15 (including ¥ 12 premium)
On Allotment T 10 (including ¥ 8 premium)
On First and Final call — Balance

Applications for 65,000 shares were received and allotment was
made to all the applicants. A shareholder, Ram, who was allotted
2000 shares, failed to pay the allotment money. His shares were
forfeited immediately after allotment. Afterwards, the first and final
call was made. Sohan, who had 3000 shares, failed to pay the first
and final call. His shares were also forfeited. Out of the forfeited
shares, 4000 shares were re-issued at T 50 per share fully paid up.
The re-issued shares included all the shares of Ram.

Pass necessary Journal entries for the above transactions in the
books of R.K. Ltd.

OR

67/1 13 P.T.0.



17.

18.

19.

67/1

Ashish Ltd. invited applications for issuing 75,000 Equity Shares of
T 10 each at a discount of 10%. The amount was payable as follows :

On Application T 2 per share

On Allotment T 2 per share

On First and Final call — Balance
Applications for 1,50,000 shares were received. Applications for
25,000 shares were rejected and application money of these applicants
was refunded. Shares were allotted on pro-rata basis to the remaining
applicants. Excess money received with these applications was
adjusted towards sums due on allotment. Suman, who had applied for
1250 shares, failed to pay allotment and first and final call money.
Dev did not pay the first and final call on his 1000 shares. All these
shares were forfeited and later on 1000 of these shares were
re-issued at T 17 per share fully paid up. The re-issued shares
included all the shares of Suman.

Pass the necessary Journal entries in the books of Ashish Ltd. for the
above transactions.

0T @
(fa=ira Taaron =1 favermom)

PART B
(Financial Statements Analysis)

3 way’ & foau forirg faawon & favewo & "o & Sei@ Sy |
State the significance of analysis of financial statements to “Top

Management’.

ks a8 faawer s H1 1 2YF 2 7
What is the objective of preparing a Cash Flow Statement ?

TH ARG T ER TH 3 A & W F A 7 TR T H U
yaTe faeer s g Ry yeR @ fafaly e smem 2
While preparing Cash Flow Statement, what type of activity is

‘Payment of cash to aquire shares of another company by a trading
company’ ?

14



20, TFY. fA. # W UG 3 : 1 8 G Wad oUE 2 : 12 | AR BE W
yfafafies S arefl =g wefeel @@ gefeal § T 40,000 fyE @, @ Wi
Tl qFm = <garsl @ e F | 3

X Ltd. has a current ratio of 3 : 1 and quick ratio of 2 : 1. If the
excess of current assets over quick assets as represented by stock is
Z 40,000, calculate current assets and current liabilities.

21. frefafad go & feafafag § § = @ sami @ T S 4
(F) FO-HHAT I
(@) Sl gt emad ST
m Ry W oy |

T
e 3w ¢St T 10,00,000; ¥ €99 T 1,00,000; @r9-gf @rar & 991 &=
TRE & a6 T 3,00,000; 12% FOT9F T 4,00,000; TER T 3,00,000; o @
& T 13,00,000; TR T 3,00,000; SHER T 2,90,000; %€ T 1,10,000 91
R =@ T 1,00,000.

31.3.2011 % 9@ §C a¥ F fay fasa T 30,00,000 &1 T4 50% FX F TAH
ferar man ar |

From the following information, calculate any #wo of the following
ratios :

(a) Debt-Equity Ratio;

(b)  Working Capital Turnover Ratio;

(¢) Return on Investment.

Information :

Equity Share Capital ¥ 10,00,000; General Reserve ¥ 1,00,000; Profit
and Loss Account after Tax and Interest T 3,00,000; 12% Debentures
T 4,00,000; Creditors ¥ 3,00,000; Land and Building ¥ 13,00,000;
Furniture ¥ 3,00,000; Debtors T 2,90,000; Cash ¥ 1,10,000 and
Preliminary expenses ¥ 1,00,000. '

Sales for the year ended 31.3.2011 was ¥ 30,00,000 and Tax paid
50%.

671 15 P.T.O.



22, frafafed @ faawor @ 31.3.2011 # ¥« gC a¥ & faqU o9« fa. & @
= SR H 3 fFewr AR e

31.3.2011 @t ¥9TW gC ¥ & fore s for, @1 o faawor

gt Tf¥r
3
bl
[EER] 25,38,000
I A 38,000
A A 25,76,000
S &
S° T A F WA 14,00,000
EEIRERCC] 5,00,000
T 4 19,00,000
T 3,38,000

From the following Income Statement, prepare a Common Size
Income Statement of Jayant Ltd. for the year ended 31.3.2011 :

Income Statement of Jayant Ltd. for the year ended 31.3.2011

67/1

Particulars Amount
T
Income :
Sales 25,38,000
Other Incomes 38,000
Total Income 25,76,000
Expenses :
Cost of goods sold 14,00,000
Operating Expenses 5,00,000
Total Expenses 19,00,000
Tax 3,38,000

16




23. 31.3.2010 @& 31.3.2011 &I =1, 91.31%, fa. & fa=fatEy fufg faaol 4 Uss Y9

foeror daR FifST
31.3.2010 @em 31.3.2011 @t &t.@.am. fa. & fufa faaww
31.3.2010 31.3.2011 31.3.2010 | 31.3.2011
LRI 2 g | 2 2
T S S | 5,00,000 | 7,00,000 | WA 1,00,000 | 95,000
W-gH @R | 2,00,000 | 3,50,000 | §9F 5,00,000 | 5,00,000
q% F=0 1,00,000 | 50,000 | fFw — | 1,00,000
SEfer T 50,000 | 70,000 | 3R 80,000 | 1,47,000
T TG 30,000 | 50,000 | ¥ 55,000 | 1,30,000
TR 55,000 | 52,000 | ¥% 2,00,000 | 3,00,000
9,35,000 | 12,72,000 9,35,000 | 12,72,000
SAfertees el

T8 % ¥ 1,00,000 T & I # %9 fFa W | 9= % T W T 12,000 F

B & | §9 W T 18,000 H HeIg ™ @E T4 | 6
From the following Balance Sheets of B.C.R. Ltd. as on 31.3.2010 and
31.3.2011, prepare a Cash Flow Statement :
Balance Sheets of B.C.R. Ltd. as on 31.3.2010 and 31.3.2011
31.3.2010| 31.3.2011 31.3.2010 | 31.3.2011
Liabilities 4 4 Assets T 3
Equity Share Capital 5,00,000 | 7,00,000 | Patents 1,00,000 95,000
Profit and Loss Account | 2,00,000 | 3,50,000 | Equipment 5,00,000 | 5,00,000
Bank Loan 1,00,000 50,000 | Investments — | 1,00,000
Proposed Dividend 50,000 70,000 | Debtors 80,000 | 1,47,000
Provision for tax 30,000 50,000 | Stock 55,000 | +1,30,000
Creditors 55,000 52,000 | Bank 2,00,000 | 3,00,000
9,35,000 | 12,72,000 9,35,000 | 12,72,000
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22.
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Additional Information :

During the year Equipment costing ¥ 1,00,000 was purchased. Loss
on sale of Equipment amounted to ¥ 12,000. ¥ 18,000 depreciation
was charged on Equipment.

W T
(Ao AETE)

PART C
(Computerised Accounting)

FET T Y TER FE A & 7

How does computer system work ?

fodl @ # sEfed F8 & A @ 91N i g0 fHEe wtfye 2 & 7

What is represented by the ‘Third’ and ‘Fourth’ digits of the code
allotted to an account ?

T HIEHOT/ ST = g ?
What is data validation ?

TEEd A o7 & R AW I @ 9neny |
Explain any three sub-systems of Accounting Information System.

AT & fFE IR A @ e Fifew |
Explain any four advantages of D.B.M.S.

AEHETE TRIE § SHaidl & 76 S 99 & 0 $9 & fow s69h & o
7 fafgw | y

Write the steps of a query to compute House Rent Allowance for
employees in Microsoft Access.
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23.

(%)

(@)

(a)

(b)

frfafied g9 @ -9 & U F T s F for te W OwEe
H TOET HifT

% 40,000 & TA a9 7% 15% F & §; T 40,000 ¥ 31 1 w1 W 25%
WY | (T 9 C2 ¥ waft)

THIE & 39 &g A" T §u ey, Sew v @ sraft
& g dfea @ & e F W % fae fFar s @ 2+4=6

From the following information, calculate the formula on Excel
for computing the amount of Transport Allowance :

Basic pay upto ¥ 40,000, @ 15%; for more than T 40,000, @ 25%.
(Basic pay is projected in C2).

Name and explain the financial function of Excel which is used to
calculate cumulative interest paid between two periods.



